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l.  In the followng recal numbers, which
deccimal expansion

e TR ST AR el (SaefiF €4

Nrsd TS AT QT (oA® WA (AEfAe 23T

(a)y 3
(b) =
l
() =
13
(d 7133

Find the correct answCr -
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=
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(a) anntcger

(b} a rauonal number
(c) apnme number

(d) an irrational number
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(a) W¥G AN

(b) <f@wT Swm

(c) GIfre s

(d) TRy

'
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4. Under whal condition, roots of the quadratic equation x? + px + g * O will

T JIAW @R A9 ;
\f7 zals

(3) TYQ KM
(by ofzem sum
(c) o
(d) TfATTY ST

3. Sum of the zeros of the cubic palynomial 1

Ple) = 3x1=5x%  Lix—3is
Pix) = 33F = 557 - 11x~ 3 Fwis TRom G4 *[AT Q4¢ cUtsTe TR

famto Cqom 31 P(x) = 353 - 532 — 11x =3 97 TR QUIYT 204
(8 s

by Il

{¢) 3

5
W 3
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be real and uncqual ? i
f s6T T SRR 52+ pe+ g = 0 T T il ST WTF ASHH TI 2.

F 508 o732 + pe + q=0 5T [F T IV AT WSYT W {
(a) p*-4q=0
(b p'-4q<0
)y p*-49>0
W pi—dg20
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1 . G e arcas of the
If the sides of two simtlar tnaneles are in the rabio 3 9. then th

triangles are in the ratio

. e 23
TR R s Frged T33 TS 4 - 9 ey Py & P A

= 'n.\ﬂ’if‘l
'—lfB"T"ﬁ’.‘qt@?ﬁﬁ{ﬁtﬁ-&r‘)!‘t\:fﬂ?ﬁﬁ'{a@‘lﬁd"ﬁ‘amr

(ay 2:3
(b) 4:9
(c) S8l1:16
{tl) 16 : 81

Distance between the points (1. 0) and (- 1. 0) 1S

(1. 0) JTF (-1, 0) ey |74 X194 SIF TF -

(1,0) 2 (-1, 0) R <32 sureS @y ™

(a) 0O
IR
(cy 1
() 2

If the angle of elevation of the sun s 45°, then the ratio between the tower

and its shadow 1s

TfR SWa 83 R 45°, XA 51 GF JTE TR T T{*TS X'

ofs srae Safs @ 35° o oA 23 33 a2 4T v e ==
“ 1:1

) 1:3
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Area of a sector of angle Plin degrees) ot a circle with rudius Ry
R T797% T3 231 334 0 T0) (4113 281 JIoerd ofed T

R Imd Yo 29% 3R PfE) @mR oo frasr 3 2d

() TR rR

m .

(h) T 2k
P

(d 330 2=R-

9. The wickets taken by a bowler in 10 Crichet matches are as follows 1

2 6 4 5 0 3 l 3 2 3
Mode of the data i
ATR TR 10 4= forel ens vy o4l SUAGY H1XT 07T MY y3a1q ¢

2 06 4 5 0 3 1 3y 2 3
oYfkfFe AT T2

10 D RS (XA L2594 (@@ TYA FIT SRETGT Ty g -

2 6 4 5 0 3 | 3 2 3
TLT2d TS UL

(a) |

I~

(b)
<y 3
(dr §
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10. A die is thrown once. the probability of getting a prime number s

BT T 24y 51 wBuTa @t snun (rary THEE! T

<3 M cadre Wt wrmer AMors s ot syt 2

|
(a) r
h)
(b) P
}
{c) 35
|
(d) 3

| + tan’0

1. The value of 1 - cot’0 18

1 - tan°0

S b C ]
|l +cot-0 N ol

| - tan-0

. 22 X7H 4
]l +cot-0

(a) sec-8O
(by -1
(¢c) coti@

() tan’e
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12. Three mesallic spheres of radii & em. 8 cm and 10 i respecuvely are

melted 10 form a single solid sphere. The radius ot the resulting spherc 1 1

6 fA, 8 el e 10 aiE, ATHE T agE e e 931 mpd O
Rotlly &AM T | 4T (ARG AT ©°F

6 oT9, 8 ¢ifit A 10 % vl AT Trgd oot o wef S ¢
O T GRT | qOT (a3 s 20a

(a)  12em (.5 (il
ib) 24 em (CTfRy (b
(c) 48 e (M) (R
@) 480 cm (R ()

=
H
2
=
z
=
Section—B §
13.  Using Euclid’s division lemma. show that any posinve odd intezer is of the %
form 4y + | or 4q + 3 where g is some integer 2 =
=
o)
2eMrwe [doreir Joire qrazd ofs Gyazt Al NIRRT COsMIE BYT Brea §_
AR A+ | ARG 4y + 3 WA PG g @ A3, THQ KVAN 8
=
2TE frurein =fuen G4 T UM (T, T EIET QIEIE TG L Qg+ 1
T 4y + 3 englad TR q 936 TYQ AW
14, Which term of the Arithmetic Progression : 2
RIS, s is 78 "
3,813, 18, overren.n. SR BSR4 BIRTET 7 78 7
3,813, 18, correeen... TTHISE G cats omfE 78 ¢
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15.  Find the coordinates of the point which divides the line segment joining the

points (-1, 7yand (4. -} in the ratio 2 = 3 2

(-1. 7) W& (4, -3) faq @D AUIYDT 2 1 I T TS ©ist o4t faB14 ¥ART

farty =1

(-1, 7) a: (4, -3) feqg smeutsd ceut xafite 2 . 3 Ao feva ozt fagba

Hane fafg =3

6. [Cwvaluatc: 2
A Ry o€ :

57 Sy et

5 c0s60° = 4 sec-30° - tan 45°
oin<30° + cos=30°
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(7. If A. B and C arc interior angles of a triangle ABC. then show that

, [B - C] A
sin B =C0s _2”

15 A. B &% C @14 3%B1 ABC frgod T3l TN, (5T ¢y adl (U -

n[25€) A
sin| =5 = cos 5.

1fi ABC fouteid I8 oft A, B a3 C &7 X4 (713 @,

- -‘CD&?.

\ '

sin (B - CJ a
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18. A box contains 3 blue, 2 white and 4 red marbles, Iff a marble is drawn at
random from the box, what is the probability that it will be white ? 2

ABY TS 351 AN, 25 AT wie 4 w81 WA W | 4 95 51t THRETTI
WA B, (OF CALST T+ N Sytfaet fF 2

2ol A 3 T, 2 ST AR 4 B S NI 2ICE | U e ond 28
e (R T 28 a4 7B NT7, DA SwiR; 4 °

(9. Prove that; 2
AT S

MM B QU

(sin A +cosec AX 1 (cos A+ sec AR =7 +tanfA + cot?A

‘Section —C

20. Divide3x>—x? -3y +Sbyx-1- x> und verify the division algorithm. k!

v | —x2@ 32—y - 3y = 5 % [ o e eTem = TAOe e e I L
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30 - P A+ 5@y — | —x7 W I R/A AT RetsR it ST FET 1

2. For which values of p does the pair of equations given below has unique

solution 7 3
P f&rqmmmﬁﬁ-ﬁmmm S5 ST e e t
pa & wwe oA Apa s 7 ool WS s T ¢
dv +py+ §=0
2y+2y+2=0
Conrd.
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22, Find the roots of the following equation :

23

wEq Wil = {fg I

Moz sfezier = [y =t -

2-—5x+2=0

If the following quadralic equation has two equal rools, then find the valuc
of k.

% oo s T o 581 SuA T, 309 kT W Ao aq -
Meor (oS TRe B 3@ 0 w9 W= ka W [ o
22 rkax+3=0

Or/ATRa/STaat

Find two consccutive positive intcgers, sum of whosc squares is 365.

B AT (TS Ay Hvyn BfFnear T avfe i 3651

16 e cuterau Srya S e s oiee A sefe 363 |

24. The first term of an AP is 5 and last term is 45 and the sum is 400, Find the
number of terms and the common différént_:e.
B! SNIGT 4OV AN 47 5, I *fF 45 WE @ 400; P T AT WE
ST WS [T w0
afb STrEd 2l awy # 5, WY o5 45 g3 TN 400 | NIB A S SR
Ryray w97 [Fefg o
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25 1Fadine ntersects sides AB and AC of 2 AABC m D and E respectyvely and

AD  AE
aralte! | Ay _Aan 3
is P 0 BC, Prove tha AR~ AC

TR O @UR AABC 3 AR I1% AC T5F &= D W% [ fode com I &9

AD  AE

(LWE BC ¥ THF410, T <97 9l @ —= B - AC

ABC frucen BC agg e aald @1 o AB Az AC 1@ &0 D 4%

AD AE

rféﬁmmmm"ﬂ'ﬂw = 5C

26. Find the area of (he Wwiangle fonmetl by the points A(5, 2). B(4, 7) and C(7, -4). 3

A(5. ). B4, T afF (7, ) 1o etot 5o Fagonety & T 4 |

A(5. 2), Bi4, 7) =@ C(7. ) Fg 1ol i b fogein 21w Feta 3o

27. A chord ol'a circle of radivs 10 cm subtends a right angle at the centre. Find

(he area of the corresponding minot segment. {Use k= 3.14) 3

10 e, TSNS 61 o9 Q4 TR @ET 31 SN IR | EEA (T
Toye aifer Fefy ot (IO AR = 3.14)

10 oy ner 93 2 AT TN GO 03 S B AW | WA
(el T Wod IE W T (L (r=3.14.6T)
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Section-D

28. The arca of a rectangle gets reduced by 9 square umits. if its length is

30.

reduccd by 5 units and breadth s increased by 3 units. If we increase the
length by 3 umits and breadth by 2 units the area is increased by 67 square
units. Find the length and breadth of the rectangle.

B Amned T% BT S 23IB OF T TS 3 20T IH 34 T, (W TR A
9 a7 289 N AT ¢ TR TWR TS 3 43T TT¢ #%3 2 <30 ¢ 34 ™ T
eTH 67 20 AT TF AT 1 WITSHHR N TF 919 S3a )

TR 23T IS T S 200 A 2@ AV 3 93T TF 9 &, OR-uTIOBe T
9 3T £3F TN 1T | Alee U (T 3 93T o3 vy 2 aFS P 4 W, T
3fa 67 3 a3= = *mu | ATl B 9 o9 Foy T@

In an cquilatcral triangle, prove that three times the square of one side is
equal to four imes the square of one of its altitudes.

AN I (T, 23 WAz Fayse <B1 AT 9vv¢ fofom O ore Srfog 3fq
5RO W= | http://www.assamboard.com

o™ W @, 23D AR fageerd 2af Irag s o fageBe o3l Safsn
JPofe T8 O HI= |

The shadow of a tower standing on a level ground is found to be 40 m

longer when the Sun’s altitude is 30° than when it is 60°_ Find the height of

the tower.

IS ST oo U W ¥o1 9B ;w ¥ U BAfS (B3 @A) 60° uee
fezra Bea w, 359 o™ 30° EA St 40 TEN @fe a1 SR Swor
fasfg 31

23 TTYNE IR O FOTRA 93 AWT W BT ST SAfS ot
60° WA TS HT O J18T 40 Bz @ w3 g+ soure Bafs o 30° @
3Bz S Ao =
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31 Prove that 1he lengihs of tangents deaven from an external pomt 102 cnele

are equal, 4

IR T LT 4T fasq oqr gEta ar e (4044 O WA

AT A QU TN <ry T ale carme qad SR arfel (s Ol ol

=14
Or /sy
Prove that the pamticlogram circumscnibing a circle 1s a thombus

AN &4 A 951 G5 =5 oql HINTTHD A6 4% |

e ol @, 23 TIE SR IO AEETIT g9l 4w 1A

‘o
3 ]

e 3
Construct a tnangle similar to a given triangle ABC with its sides cqual to 3
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3
of the corresponding sides of the triangle ABC (i.c. ol scale factor 3) 4

951 =y frgs ABC 1 spits op fage &fe o R amw ABC

3 3
Frgein arf# IRRAT J o[ SWA (TS @ R G0

23% =ww fags ABC ¢ sy 23% fags afen wr amorn ABC fagrem

3 3
FIE™ AROEAR T A | (YR scale factor ) |
B15-GM (EN/AS/BN) (New) 13 Conid.

http://www.assamboard.com



wod pIeoquuesse mmm//:dny

Section - E
33 A 20 m deep well wath diameter 7 moas dug and the earth from diggang s

evenly spread out to form a plattorm 22 m by 14 m. taind the height ot the

' 22)
plntl‘bnn.| Take - =7
20 KB T wre 7 (B amg aB ¢t wits g sl serote quEnE 22

R X 14 fB1e (B coBud awd sge aql Be (ot W St iy

27 "|
)

.2 o |£n—=.frmt

20 R e ae 7 Wl anoie 2efd gt Yty iR onifl wwute ofsTe 22
fr x 14 i aree 28ff 3 (Plattorm) S§S s wern 1 wfe Sool fdu e )

' 22 ]
[rt TGW‘

Or/Aa/sya

A container, opened from the top and made up of a metal shect, is in the
form of a frustum of a cone of height 16 ¢cm with radii of its lower and
upper ends as & cm and 20 ¢m respectively. Find the cost of the milk which
can completely fill the container, at the rate of T 20 per litre. (Take m=3.14)

16 (8. SO T wT Spad [T Qe e RS R cvten AT B
woa ST 9rad Gfie arsrd w8 . e 20 cefit 1 ofS fAbes 20 B

@ el AR Marh! o 3fade e w3 ofe@ e g 1 (n - 3.14 7A)

aﬁuﬁ#ﬂ:fmﬁaﬂqﬁmmaaﬁa@mmm | stiafoa Swol
iﬁmﬁ,mmqﬁamwsmﬁmsﬂmmwﬂrzomﬁ | ofS Fidra
mqmm?mﬁrmuﬁaquuﬁmm«m@ﬁmmm

ATSA 36 [y @ 1 (v = 3. 14 (W)
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34 The marks ubtained by 30 students of Class X of a certain school in a
Mathematics paper consisnng of 100 marks arc presented in 1able below.

Find the mean of the marks obtaincd by the students.

y

‘ﬂass interval | 10 -25|25-40 :IO - 53

55-?0}70-35&5 - m:il

-]I"iumln.'r4ufslud|:ms|I 2 l 3 7 \ 6 l 6

6 |

R TfeRie sm fRenR e @R 30 oW Freille 100 A seR
PATET Q4TS AR 494 R <0 27 | TI0d 5o Ae I A9 T

@ =91 |

-t

lmv?rﬁmm 10- 25[25 - 40| 40 - 55 [35 - 70[70 - 85

85 — m{}—|

o
|

I
lﬁmﬂh e | 2

¢

@ietl 02 frern, s Rem 100 s +@ww v g 30 wW eeE
1% 7T A ACHE OTAS (MONT A | TR NG T8 w41 Fefy et |

cafi Frere 110-25{25-40 -40~55|55-?0\7rp-55'135—m?\

W1 ST 2 1 3 746]6

_6\
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